Name

DIVIDING INTEGERS >

Find each quotient.

48:8=__ 6
21+ (-7) = i
4+ (-4) = e
-35+(-7) = L
-80 + (-8) = i
-36 + (-6) = 76
27:(9=__ "3
88+ (-8)=_~11
-30 + (-6) = L
200+ (-10)=__ 20

-1,600 + (-40) = 40

-4000:800=__ ~9

20 < (-4) =
63:9=__ ~/
56:(-8)=__ /
49:7=_ 1
A5:5=_ "3
40:4=- 10
32:(8)=__ 4
44s(12)= 12
81:9=_ -9
900:30=_ 30

-5,000 + (-50) =100

7,200 = (-900) =

Answer Key

»ﬁﬁvﬂwb

36+ (-3) =
90:(10)=__ 9
66:11=__"6
7e=_ 7
M2:E3p=_ 4
2:(2)=_ 11
42:(-6)=_ ~/
28:(4)=__ |
108+ (-9)=_ ~12
800:20=__ ~40
3,600+ (-90)=_ ~40

-6,000 =+ (-500) = 12
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